Circuit 815

Grandvelle-Boult-Les Bégoulots

kern

94 km - Dénivelé : 535 m
http://www.gpsies.com/map.do?fileld=tnjecnfbjumgsgng
Vesoul 0
Montoille-Montigny 9
d13 Velle-Carr. Noidans 21
d3 Neuvelle Iés la Ch. 25
d63-d33 |Lieffrans-Grandvelle 30
d33 Maiziéres 33
d210-x |Equilley-Les Roseliéres 39
x-d33 Montarlot les Rioz 42
d33 Boult 47
d15 Sorans les B.-Rioz 56
d15 Marloz-Loulans les F. 67
d25 Roche S/Linotte 71
x-d26 Dampierre S/Linotte 76
d26-d76 |Villers le sec 88
d76-d13 |Vesoul 94
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http://www.gpsies.com/map.do?fileId=tnjecnfbjumgsgng

